
  Vyjadrenie súhlasu a nesúhlasu v anglickom jazyku. 
 

Ak súhlasíme s danou informáciou, používame:                                                                      

SO / NEITHER=NOR + auxiliary verb (pomocné sloveso) + I                                                   

 SO = ak súhlasíme s pozitívnym tvrdením          

 NEITHER = ak súhlasíme s negatívnym tvrdením          

 Príklad: 

 

 I            fourteen years old. Mám 14 rokov. Kladná veta - So am I.  Aj ja.                                               

            

            

 I                       fish. Nemám rád rybu. Záporná veta Neither do I.  Ani ja.  

 

 
A. Pospájaj vety s vyjadrením súhlasu a nesúhlasu. 

 

1. They weren´t at cinema last week.  ___                       a.) Nor did I. 

2. I don´t know why is she laughing.  ___    b.) So am I.    

3. I wrote an email to my boyfriend.  ___                         c.) So can I. 

4. Susan is 17 years old.                     ___                         d.) Nor could I. 

5. I will help him.                               ___                          e.) Nor was I. 

6. She shouldn´t buy so expensive jeans. ___                    f.) So have I. 

7. I can play table tennis.                    ___                         g.) Nor do I. 

8. We have been  there several times. ___                         h.) So did I. 

9. My father didn´t like my friends.    ___                         i.) Nor should I. 

10.  I couldn´t give her my exercise book. ___                   j.) So will I.   

 

 

B. Dopíš SO alebo NOR 

1. I´m going to see that film. ____ am I. 

2 . Ruth passed the exam. ____ did I. 

3. I´m not working tomorrow. ___ am I. 

4. I´ve been ill. ___ have I. 

5. Robert doesn´t live in New York. ___ do I. 

6. Julia speaks German. ____ do I. 

7. Eva can drive. ___ can I.  

8. My sister wasn´t at school. ___ was I. 

9 Ann will be at the party. ___ will I.  

10. They were waiting.___ was I.  
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